Tabulation of Bids

Awarded to:	Date Awarded:	Amount Awarded
Integrity Grading & Excavating	04/18/22	\$6,724,652.20

	Project Manage	er: Matt Messina	Consultant:	Mead & Hunt
State of Wisconsin	Airport:	Dane County Regional Airport	Bid Date:	3/31/2022
Department of Transportation	Project:	MSN1010	Bid Time:	2:00 P.M.
Bureau of Aeronautics	Bid for:	Rehabilitate International Lane	DBE Goals:	3.48%

DESCRIPTION: BASE BID: REHABILITATE INTERNATIONAL LANE			Integrity Grading & Excavating 605 Grossman Dr. Schofield, WI 54476											
Bid Item	Description	Quantity U	it Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price Total
C-100	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	1 L	\$50,000.00	\$50,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
C-105	MOBILIZATION	1 L	\$1,128,000.00	\$1,128,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
P152-4.1	UNCLASSIFIED EXCAVATION	19000 C	Y \$30.00	\$570,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
P154-5.1	SUBBASE COURSE	12800 C	Y \$49.50	\$633,600.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
P209-5.1	CRUSHED AGGREGATE BASE COURSE	8400 TC	N \$49.91	\$419,244.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
201.0120	CLEARING	8 11	\$446.43	\$3,571.44		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
204.0100	REMOVING CONCRETE PAVEMENT	680 S	Y \$11.68	\$7,942.40		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
204.0120	REMOVING ASPHALTIC SURFACE MILLING	30000 S	Y \$2.17	\$65,100.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
204.0150	REMOVING CURB & GUTTER	6600 L	\$5.44	\$35,904.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
204.0155	REMOVING CONCRETE SIDEWALK	200 S	Y \$6.02	\$1,204.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
405.0100	COLORING CONCRETE WISDOT RED	120 C	Y \$179.60	\$21,552.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
415.0080	CONCRETE PAVEMENT 8- INCH	17440 S	Y \$75.00	\$1,308,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
415.0115	CONCRETE PAVEMENT 11 1/2- INCH (SPEED HUMP)	200 S	Y \$112.95	\$22,590.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
416.0610	DRILLED TIE BARS	1835 EA	CH \$9.95	\$18,258.25		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
455.0605	TACK COAT	755 G	\$3.00	\$2,265.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
460.6226	HMA PAVEMENT 3MT 58-28 S	3800 TC	N \$69.15	\$262,770.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
460.2000	INCENTIVE DENSITY HMA PAVEMENT	2065 D0	DL \$1.00	\$2,065.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
601.0205	CONCRETE GUTTER 24-INCH	280 L	\$88.22	\$24,701.60		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
601.0325	CONCRETE CURB & GUTTER 24-INCH	6450 L	\$33.51	\$216,139.50		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
602.0410	CONCRETE SIDEWALK 5- INCH	1900 S	F \$9.88	\$18,772.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
602.0505	DETECTABLE WARNING FIELD YELLOW	20 S	F \$53.63	\$1,072.60		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
611.8105	ADJUSTING CATCH BASIN COVERS	19 EA	CH \$946.35	\$17,980.65		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
611.8110	ADJUSTING MANHOLE COVERS	6 EA	CH \$946.35	\$5,678.10		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00

Base Bid, Con	tinued													
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price Total
618.0100	MAINTENANCE AND REPAIR OF HAUL ROADS (PROJECT)	1 EACH	\$500.00	\$500.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
625.0500	SALVAGED TOPSOIL	7150 SY	\$3.98	\$28,457.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
627.0200	MULCHING (METHOD B, TACKIFER)	5400 SY	\$1.20	\$6,480.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
628.1504	SILT FENCE	5500 LF	\$1.85	\$10,175.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
628.1520	SILT FENCE MAINTENANCE	5500 LF	\$0.02	\$110.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
628.2004	EROSION MAT CLASS I TYPE B	1750 SY	\$1.25	\$2,187.50		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
628.7010	INLET PROTECTION TYPE B	10 EACH	\$40.00	\$400.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
628.7015	INLET PROTECTION TYPE C	32 EACH	\$40.00	\$1,280.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
629.0210	FERTILIZER TYPE B	5 CWT	\$85.00	\$382.50		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
630.0120	SEEDING MIXTURE NO. 20	195 LB	\$11.00	\$2,145.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
630.0200	SEEDING TEMPORARY	195 LB	\$2.50	\$487.50		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
638.2102	MOVING SIGNS TYPE II	2 EACH	\$1,000.00	\$2,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
645.0220	GEOGRID TYPE SR	9000 SY	\$2.37	\$21,330.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.1005	MARKING LINE PAINT 4-INCH	3000 LF	\$2.45	\$7,350.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.3005	MARKING LINE PAINT 8-INCH	1800 LF	\$4.85	\$8,730.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.5005	MARKING ARROW PAINT	12 EACH	\$100.00	\$1,200.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.5105	MARKING WORD PAINT	3 EACH	\$195.00	\$585.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.5206	MARKING SYMBOL PAINT (CHEVRONS)	6 EACH	\$120.00	\$720.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.6105	MARKING STOP LINE PAINT 18-INCH	75 LF	\$10.90	\$817.50		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
646.7405	MARKING CROSSWALK PAINT TRANSVERSE LINE 6-INCH	9500.0 LF	\$3.65	\$34,675.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
649.0105	TEMPORARY MARKING LINE PAINT 4-INCH	2300 LF	\$2.45	\$5,635.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
653.0900	ADJUSTING PULL BOXES	9 EACH	\$500.00	\$4,500.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
690.0150	SAWING ASPHALT	500 LF	\$2.00	\$1,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
690.0250	SAWING CONCRETE	250 LF	\$4.00	\$1,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
70002	FURNISH AND INSTALL 6 INCH DUCTILE IRON PIPE AND FITTING FURNISH AND INSTALL 8	24 LF	\$409.69	\$9,832.56		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
70003	FURNISH AND INSTALL 8 INCH DUCTILE IRON PIPE AND FITTING	378 LF	\$304.32	\$115,032.96		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
70031	FURNISH AND INSTALL 6- INCH WATER VALVE	2 EACH	\$4,011.92	\$8,023.84		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00
70032	FURNISH AND INSTALL 8- INCH WATER VALVE	2 EACH	\$3,077.50	\$6,155.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00	\$0.00

	nued			\$0.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price	Total
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	1 EACH	\$3,535.22	\$3,535.22		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
70080	CUT-IN OR CONNECT-TO EXISTING WATER SYSTEM	4 EACH	\$3,963.79	\$15,855.16		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
70082	CUT OFF EXISTING WATER MAIN	4 EACH	\$1,606.98	\$6,427.92		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
70101	FURNISH AND INSTALL INSULATION	2 EACH	\$420.52	\$841.04		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
70104	ADJUST WATER VALVE BOX	15 EACH	\$803.49	\$12,052.35		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
70301.S	ABANDON EXISTING WATERMAIN AND VALVE	4 CY	\$589.20	\$2,368.58		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
70401.S	REMOVE EXISTING WATERMAIN	141 LF	\$74.12	\$10,450.92		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
X90001	REPLACE LOOP DETECTOR	3 EACH	\$2,500.00	\$7,500.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
X90002	TRAFFIC CONTROL	1 LS	\$125,000.00	\$125,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.101	PAINTING OVERHEAD SIGN BRIDGES	1 LS	\$20,000.00	\$20,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.102	PEDESTRIAN SIGNS	103 SF	\$75.00	\$7,725.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.103	SIGN POSTS TYPE 1	6 EACH	\$1,450.00	\$8,700.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.104	SIGN POSTS TYPE 2	5 EACH	\$1,890.00	\$9,450.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.105	REMOVING LUMINAIRE, 25'-0" LIGHTING POLE AND WIRING	48 EA	\$1,000.00	\$48,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.106	REMOVING LUMINAIRE ONLY FROM 12'-0" POLES	28 EA	\$1,000.00	\$28,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.107	REMOVING ELECTICAL WIRING #6	740 CLF	\$200.00	\$148,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.108	REMOVING CAMERA AND POWER SUPPLY	1 EA	\$3,500.00	\$3,500.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.109	REMOVING SIGN LUMINAIRES	6 EA	\$3,500.00	\$21,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.110	ELECTRICAL WIRING: #10 XHHW	236 CLF	\$200.00	\$47,200.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.111	ELECTRICAL WIRING: #8 XHHW	35 CLF	\$200.00	\$7,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.112	ELECTRICAL WIRING: #6 XHHW	9 CLF	\$200.00	\$1,800.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.113	ELECTRICAL WIRING: #4 XHHW	15 CLF	\$200.00	\$3,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.114	ELECTRICAL WIRING: #2 XHHW	20 CLF	\$200.00	\$4,000.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.115	CONDUIT RIGID NON- METALLIC SCHEDULE 40, 1- INCH CONDUIT RIGID NON-	455 LF	\$10.00	\$4,550.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.116	CONDUIT RIGID NON- METALLIC SCHEDULE 40, 1 1/4-INCH CONDUIT RIGID NON-	742 LF	\$10.00	\$7,420.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.117	CONDUIT RIGID NON- METALLIC SCHEDULE 40, 1 1/2-INCH	1140 LF	\$10.00	\$11,400.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.118	CONDUIT ELECTRICAL METALLIC (EMT), 3/4-INCH	80 LF	\$10.00	\$800.00		\$0.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00
BS.119	CONDUIT ELECTRICAL METALLIC (EMT), 1-INCH	200 LF	\$10.00	\$2,000.00		\$0.00	-	\$0.00		\$0.00	-	\$0.00	\$0.00		\$0.00

Base Bid, Con	tinued													
Bid Item	Description	Quantity U	nit Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price	Total	Unit Price Total
BS.120	TRENCHING/BACKFILL (2' X 2')	2150 I	\$20.00	\$43,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.121	POWER POST PP-#: 100A, 120/240 VOLT, 1 PHASE, 3 WIRE ON CONCRETE BASE	6 E	A \$5,000.00	\$30,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.122	PANELBOARD SUPPORT STRUCTURE PER DETAIL	1 6	A \$9,000.00	\$9,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.123	MINI-POWER CENTER PER SPECIFICATION SECTION 26 27 00 11 PANELBOARD CIRCUIT	2 1	A \$9,000.00	\$18,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.124	PANELBOARD CIRCUIT BREAKER, PLUG-IN, 240V, 2 POLE, 30A	2 [A \$9,000.00	\$18,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.125	CCTV CAMERA RE- INSTALLATION	1 [A \$9,000.00	\$9,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.126	CONCRETE EQUIPMENT PAD PER DETAIL 4/E-501	2 (Y \$500.00	\$1,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.127	CONCRETE BASE-POWER PEDESTAL	5 (Y \$500.00	\$2,500.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.128	HAND HOLE 13 X 24	4 E	A \$900.00	\$3,600.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.129	TYPE OA1	54 E	A \$900.00	\$48,600.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.130	TYPE OA1-C, PER LUMINAIRE SCHEDULE	1 6	A \$9,000.00	\$9,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.131	TYPE OA2, PER LUMINAIRE SCHEDULE	3 [A \$9,000.00	\$27,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.132	TYPE OB2-4W, PER LUMINAIRE SCHEDULE	28 E	A \$5,000.00	\$140,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.133	TYPE OS4 4'-0" SIGN LIGHT	1 [A \$5,000.00	\$5,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.134	TYPE OS6 6'-0" SIGN LIGHT	1 [A \$5,000.00	\$5,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
BS.135	TYPE OS8 8'-0" SIGN LIGHT	4 E	A \$5,000.00	\$20,000.00		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00
Base Bid To	otal			\$6,073,878.09		\$0.00		\$0.00		\$0.00	\$0.00		\$0.00	\$0.00

DESCRIPTIO	N·							1		1			1		1	
ALTERNATE A: REHABILITATE PARKING LOTS		отѕ														
Bid Item	Description REMOVING ASPHALTIC	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0120	SURFACE MILLING	3915 SY	\$2.50	\$9,787.50		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
P209-5.1	CRUSHED AGGREGATE BASE COURSE	95 TON	\$49.91	\$4,741.45		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
455.0605	TACK COAT	285 GAL	\$3.00	\$855.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
460.6226 460.2000	HMA PAVEMENT 3MT 58-28 S INCENTIVE DENSITY HMA	1215 TON 975 DOL	\$77.35 \$1.00	\$93,980.25 \$975.00		\$0.00 \$0.00										
611.8105	PAVEMENT ADJUSTING CATCH BASIN	1 EACH	\$946.35	\$946.35		\$0.00		\$0.00				\$0.00		\$0.00		\$0.00
	COVERS ADJUSTING MANHOLE									\$0.00						,
611.8110	COVERS	3 EACH	\$1,892.69	\$5,678.07		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
628.7010	INLET PROTECTION TYPE B INLET PROTECTION TYPE C	5 EACH	\$60.00	\$300.00		\$0.00 \$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00 \$0.00
628.7015 646.1005	MARKING LINE PAINT 4-INCH	3 EACH 1285 LF	\$60.00 \$2.45	\$180.00 \$3,148.25		\$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00
646.5205	MARKING SYMBOL PAINT	2 EACH	\$55.00	\$110.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
040.3203	(ADA SIGNS) MARKING CROSSWALK PAINT	2 EACH	\$35.00	\$110.00		φυ.υυ		φ0.00		φυ.υυ		φυ.υυ		φυ.υυ		\$0.00
646.7405	TRANSVERSE LINE 6-INCH	75 LF	\$3.65	\$273.75		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
690.0150	SAWING ASPHALT	260 LF	\$2.00	\$520.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
X90002 70104	TRAFFIC CONTROL ADJUST WATER VALVE BOX	1 LS 1 EACH	\$5,825.00 \$803.49	\$5,825.00 \$803.49		\$0.00 \$0.00										
70104		I EACH	\$603.49	\$603.49		\$0.00		\$0.00		φυ.υυ		\$0.00		\$0.00		\$0.00
BS.105	REMOVING LUMINAIRE, 25'-0" LIGHTING POLE AND WIRING	4 EA	\$5,000.00	\$20,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.107	REMOVING ELECTICAL WIRING #6	167 C.L.F	\$200.00	\$33,400.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.110	ELECTRICAL WIRING: #10 XHHW	6 C.L.F	\$200.00	\$1,200.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.115	CONDUIT RIGID NON- METALLIC SCHEDULE 40, 1-	165 LF	\$10.00	\$1,650.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.120	INCH TRENCHING/BACKFILL (2' X 2')	160 LF	\$25.00	\$4,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.128	HAND HOLE 13 X 24	1 EA	\$5,000.00	\$5,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.129	TYPE OA1	3 EA	\$10,000.00	\$30,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.136	REMOVING LUMINAIRE ONLY FROM 25'-0" POLES	82 EA	\$1,000.00	\$82,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.137	REMOVING 12'-0" WALK-WAY LUMINAIRE AND POLE	14 EA	\$2,000.00	\$28,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.138	REMOVING 16'-0" WALK-WAY LUMINAIRE ONLY	2 EA	\$1,000.00	\$2,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.139	TYPE OB1-4D-54L (LUMINAIRE ONLY- 25' POLE)	28 EA	\$3,000.00	\$84,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.140	TYPE OB1-4D-54L-A (LUMINAIRE ONLY- 25' POLE)	4 EA	\$3,000.00	\$12,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.141	TYPE OB1-3D-54L (LUMINAIRE ONLY- 25' POLE)	7 EA	\$3,000.00	\$21,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.142	TYPE OB1-3D-81L (LUMINAIRE ONLY- 25' POLE)	4 EA	\$3,000.00	\$12,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.143	TYPE OB4-4D-81L (LUMINAIRE ONLY -25' POLE)	21 EA	\$3,000.00	\$63,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.144	TYPE OB2-3D-81L (LUMINAIRE ONLY -25' POLE)	2 EA	\$3,000.00	\$6,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.145	TYPE OB1-4D-81L (LUMINAIRE ONLY- 25' POLE)	13 EA	\$3,000.00	\$39,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.146	TYPE OC- WALK-WAY POST	14 EA	\$2,500.00	\$35,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.147	TYPE OB1-3D-54L- 25' POLE	1 EA	\$10,000.00	\$10,000.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
BS.148	CKT 2,4,6::#10 XHHW INSTALLED IN EX. CONDUIT.	167 C.L.F	\$200.00	\$33,400.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
Alternate A				\$650,774.11		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
поглан Л	A			7000,777.11		ψ0.00		Ψ0.00		ψ0.00		ψ0.00	1	ψ0.00	I	Ψ0.00

\$0.00

\$0.00

\$6,724,652.20

Total, Base Bid + Alternate A